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1. C
2. Decreasing because the values of the dependent variable (the output) are getting small as the values of the independent variable (the input) are getting larger. 
3. 
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4. For each hour driven, Jen is an additional 55 miles away from Washington DC. 
5. a) input = month
        output= gas price;

       Yes; each month has a unique      gas price


b) input = milk price
        output = month;

        No;  $2.29 is corresponds to        two months. 

     c) input: gas price

        output: milk price;

        Yes; each gas price 

        corresponds to one milk price. 

6. a) Yes


b) Yes


c) No


d) Yes

7. a) 56


b) 0


c) 8


d) 3x2 + 8x + 5

e) 3x2 + 6xh + 3h2 + 2x + 2h
8. a) {x: x 
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[image: image4.wmf]4

,

3

æö

-¥

ç÷

èø


9. a) ( -4, 3)
    b) (-∞,-4) and (3, ∞)

c) x = -4 and x = 3
10. slope = -2

11. $ 161,400,000 on average per year
12. -19.5 yards on average per  year
13. 
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15. 
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16.
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17. y = 3x + 8 
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19.  a) 
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   b) 
[image: image12.wmf]2

3

m

=

; 
[image: image13.wmf]2

b

=-


20.  
[image: image14.wmf]9

32

5

FC

=+

.  For every 9(F increase, (C increases 5(.  OR  
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21.a) 
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 b) Slope: evry yr. Salry inc. $3,500.        y-int: Starting salary.

22.  
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23.  6000 feet away
24. a)  $45,000

      b)  yearly raise
25.  a)  S = 25000 + 1500t
            S = 30500 + 1000t
       b)  11 years

26. a) 
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      b)  $7142.86  in the 14% account
           $ 2857.14  in the 7% account

27. a) 
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      b)  
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28.   a)  f(x) =         
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     b)  $4,710
29. a) 1
   b) 2        c) 2


  d) 25
  e) Undefined

30.  
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31.   a)  
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    b) 
[image: image24.wmf]2

9

x

y


32.  a)  256

       b)  
[image: image25.wmf]1

9


33.   a)  .85 miles per minute

        b)   2200 feet per hour 
34.  
[image: image26.wmf]54

53

xyx


35.  1999
36.  $19.47
37.  a)  growth; 

            factor=1.25;  rate = 25%

   b)  growth;

         factor = 2.25; rate = 125%

   c)  decay;

        factor = .85;  rate = 15%

    d)  growth;

    e)  decay

38.  a)  1.25

       b)  2.00
       c)  .83

39.  Check on grapher;

       domain for  both is 
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       range for both: 
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       asymptote for both : 
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       a)  initial value = 4

       b)  initial value is 10

40. increasing, y-intercept of (0,1), 

      domain is 
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41.  
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42.  4.01 pounds

43.  
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44.  $46,000 with 9.6% annual raise

45.  $25,913.87

46.  a)  $25,039.01
       b)  $25, 836.80

       c)  $25,911.33

47.   9.9 years

48.  8.66 years

49.  13.87 years

50.   
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51.   
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52.  a ) 
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        b) 
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53.  a)  
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54.   a) 5



b) -2



c) -4


    d) 2/3


    e) 2/3

55. a) 
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  b) 
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  c) 
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56. a)  
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  b) 
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  c)
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  d) (e14 + 3)/2


  e)
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  f) 3 is the only solution


  g) 3

57.  a) 
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58.  a) 
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   b) 
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59.     All but d)
60.  a)
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61.  a)  Up 4 units 


   b)  Right  2 units

   c)  Reflect through x-axis
62.   
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63. a)
b)
    c)
   [image: image54.png]



64. Left 3, up 1
65. Left 2, Reflect through x-axis,      down 3.

66.  Min. value of 3;  opens up.

67. 15,000 units
       $88,500 max revenue
68. width = 250 ft. 
      max. area = 62,500 sq. ft. 

69 .  a) 30 items sold
        b) (0, 30) 
70.  
[image: image55.wmf]3

()24

0

Qxxx

R

=-+

=


71.  a)  Zeros are 5 and -4

       b)  5 crosses x-axis; 
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       c)  As x( (, y( (; 
            As x( -(, y( -(. 
            Power function is x5
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73.  a) 
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B) 
[image: image74.wmf]2

3



C) 2


D) 1, 1

74. 
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75.  a) 1 sec. and 1 ½ sec

       b) 2 ½ sec.
       c)  
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76.  a)  
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77.  Quantity supplied : 8 
       Quantity demanded: 17

78.    (700, $30) 
79. f(x) = 5x3

a) LHS: falls RHS: rises

b) f(x) ( 0


c) f(x) ( 0
    f(x) = 5x6

a) ) LHS: rises   RHS: rises

b) f(x) ( 0


c) f(x) ( 0
 f(x) = 
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a) LHS: falls to zero 


RHS: falls to zero

b) f(x) ( (

c) f(x) ( (
f(x) = 
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a) ) LHS: rises to zero 

         RHS: falls to zero

b) f(x) ( -(

c) f(x) ( (
80 . 
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